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Q1. My friend has started a restaurant in
a wooden big building in Manali.
1. In Manali

2. In a wooden big building

3. My friend has started

4. a restaurant

Solution : 2 Big wooden building.
RULE - The order of adjective qualifying a noun is as followed Size —
Shape — Age — Color — Nationality — Material — Noun
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Q2. Most of the work of this NGO are of
little benefit to the disadvantaged.
1. Most of the work

2. of this NGO

3. to the disadvantaged

4. are of little benefit

Solution : 4 ‘Is’ in place of ‘are’.
‘Most of the ‘ takes singular verb when the noun
used with it is singular.
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Q3. Despite incessant rains, she is
the only one who plan to attend the
meeting at the ministry.

1. Despite incessant rains

2. who plan to attend

3. the meeting at the ministry
4. she is the only one

Solution : 2 ‘who plans’ in place of
‘who plan’.
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Q4. They made her as the
Chairperson of their bank.
1. No error

2. as the Chairperson

3. of their bank.

4. They made her

Solution : 2 Remove ‘as’
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Q5. They can’t hardly believe that Article 370 is no longer valid
in Jammu and Kashmir.

1. is no longer valid

2. In Jammu and Kashmir.
3. that Article 370

4. They can't hardly believe

Solution : 4 Hardly itself conveys negative
meaning, so it is not used in a negative
sentence.
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Q6. High level security arrangements were
made for the forthcoming visit to a Japanese
Prime Minister.

1. security arrangements
2. were made

3. for the forthcoming
4.visitto a

Solution : 4 Visit of a



Q7. He likes to put all the garbage into a black small bag .
1. into a

2. all the garbage

3. He like to put

4.black small bag

Solution : 4 Small black bag
RULE - The order of adjective qualifying a noun is as followed
Size — Shape — Age — Color — Nationality — Material — Noun
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8. The captain as well the players were
responsible for winning the trophy.

1. The captain also the players were

2. No Improvement

3. The captain as well as the players was
4. As The captain with the players were

Solution : 3 RULE - when two or more subjects are joined by
as well as, like, unlike, besides, in addition to, and not , with,
together with, along with, rather than, no less than, except,
nothing but, the verb is used according to the first subject.
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9. The Director will agree with the proposal if we
do not exceed the budget.
1. agreed by the proposal
2. agree on a proposal

3. agree to the proposal
4. No Improvement

Solution : 3
Agree with (someone)
Agree to (something)
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10. The animal resembled with a cat.
1. resembled to

2. No improvement

3. resembled

4. resembled by

Solution : 3
Omit ‘with’.” Resemble(v)’ is generally used
without a preposition.
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11. | like both tea and coffee but

prefer the....
1. least

2. latter

3. last

4. I%o ution : 2

Latter which means ‘being the
second of two items’ fits in the
context appropriately.
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12. All students should express
their views Iin the group
discussion without any fear.
1. candid

2. outspoken

3. secluded

4. guardedsolution : 1
Candid which means ‘impartial

and free from prejudice * fits in the
context anorooriatelv
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13. A colour blind person is not
able to......... between colours.
1. glance

2. distinguish
3. define

4. observe

Solution : 2
Distinguish fits in the context
appropriately.
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14). FRAIL
1. elaborate
2. fancy

3. weak

4. robust

Solution : 4
Frail — easily broken
Robust — Strong



15). ENDURANCE
1. indolence

2. patience

3. tolerance

4. persistance

Solution : 1
Endurance- ability to endure hardship ,
persistence, tolerance

Indolence - laziness , slowness In the
mindcat
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16). LAMENT
1. bleed

2. bemoan

3. appeal

4. celebrate

Solution : 4
Lament — to express grief
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17). A person very reserved
In speech

1. Confident
2. Adamant
3. Reticent

4. Eloquent

Ans. 3. Reticent
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18). Open refusal to obey
orders

1. Compliance
2. Obedience
3. Adherence
4. Defiance

Ans. 4. Defiance
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Q19. It is desirable to take

in any business if you
want to make profit.
A. advice

B. risk

C. loan

D. recourse
B. risk




Q20. The worker used
to patch up the hole in the wall

A. sand
B. cement
C. soil

D. grass

B. cement



Q21. You must refrain
such an act.

A. to

B. at

C. with

D. from

D. from
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D Home Work 7

Answer
Keith has with a

failure in English
examination thrice.

A. caught

B. gone

C. got
N mat




D Home Work 7

| sensed the of
the argument.

A. beautiful

B. beautifully

C. beauty

D. beautification
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